Section A (20 marks)

Question Answer Marks
1 | Name this solid. 1
-l
Vg WiE
RiTayy s IRt ,
SYDNEY BOYS HIGH . 2 | What percentage of $300 is $15? 1
SCHOOL '
MOORE PARK, SURRY HILLS 3 | Write in ascending order 1
(i.e. lowest to highest)
Year 8 7%, 0.6, 0.09 and % .
4
Yearly Examination 2007 L
26
10

Mathematics

a
Find the value of a.

5 Ji64 1

General Instructions Examiner: P. Bigelow Evaluate 5
s Working time — 90 minutes N 9.7+(3.1)
*  Write using black or blue pen. (correct to one decimal place).
*  Approved calculators may be used. : . 6 | Which two integers are closest to 3007 1
o  All necessary working MUST be shown in
every question if full marks are to be
awarded. )
¢ Marks may not be awarded for untidy or 7 | State whether A: Acute, O: Obtuse or 2
badly arranged work. ) . R: Reflex. ’ (a)
» Ifmore space is required, clearly write the (a) 95°
number of the QUESTION on one of the
"back pages and answer it there. Indicate ! o
that you have done so. (b) 200 b
s Clearly indicate your class by placing an
X, next t 1 8 Co 1
nextTa your class Express 6%% as a fraction in simplest
NAME: form.
. 9 | Find inMOD 7 (a) 2
Class Teacher Section Mark - (@ 1-6
8 A Mr Choy A 120
8B Mr Hespe B 120
8 C Mr Fuller C 120 (b) 3+4 ®)
81 Ms Ward D 120
82 Ms Evans E 20 10 | Which of the following three statements is 1
83 Ms Roessler F 120 true? .
Lt h _gd
Total /120 A1 3'x2" =6
B: 3'x2' =6
C: Neither A nor B.
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Section B (20 marks)

11 4a+8
Simpli .
plify ==
12 d
g @
i 5 cm
rmmmmmmm e --
- 4em |
10 em
Find the:
(a) Volume
(b) Surface area
of the rectangular prism.
13 | Write an equation to represent:
“The number three less than x is equal to
one third of x.”
14 | $84 is divided in the ratio 4:3. What is the
larger amount?
15 Solve =L =3,
16 Ifx= —% , find the value of 16x°.
17
aO
47° n 113°
Find the value of a.
End of Section A o
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Question Answer Marks
The point (—2,a) lies on the line ' 1
2x~y+5=0.Find the value of a.
Graph the solutionto 4—~x>3x ona 1
number line.
Simplify (a) 3
(@) 4x—1-x~-9
(b) 3a* x24° (®)
(c) 4a’b+2ab
©
Decrease 0.95 by 15% (answer correct to 1
two decimal places).
(a) name a pair of congruent triangles | (a) 1
(with vertices in corresponding
order).
(b) State which test you have used.
B
A | ® I
80° 4
3 4 A
809
Y A P
C
3
Q 80°
4 R
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Section C (20 marks)

Question

Answer

Marks

Factorise fully
4a’b* ~12ab*

Simplify the ratio
80 metres to 4 kilometres

E F

The triangles EFH and FGH are
equilateral. Triangle EGH must be

: isosceles

: equilateral

: scalene

: right-angled

Saw»

\

(3x—40p

(2x+10p

(a) Write an equation to represent the
information.

(b) Solve for x.

®

©)

For every 40 000 valves manufactured by
a company, it is found that on average 48
are faulty. How many faulty valves could
be expected in a batch of 90 0007

6 What fraction is midway between % and
1y
7
7 |Ifv=u+at,findtwhen v=48, u=12
and a=47?
8 | An article is bought for $14.40 and sold
for $16.80. Express the profitasa’
percentage of the cost price.
9 | Solve |3—x|=5.
10 | Expand and simplify (a)
@ 2(x-y)-3(r-2x)
®) (x=3)2x+5)
©)
11 | Find all values of x in MOD 5 such that
x*=1.
End of Section B

Page 4/15

Change 800 kph to metres per second.
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Section D (20 marks)

=
y cA(4,3)
x
B(-1,-3)
Find the exact length of AB.

8 | My 8% commission on the sale of a car
was $2400, For how much did the car
sell?

9 | Write down the number ten less than half
a million.

10

e
T
|
5Smt
i
Vi
1 ;
<&<— Tm —>
Find the shaded area.

11 | A circle has diameter 3 metres. What is its
circumference to the nearest centimetre?

12 | A roadmap is drawn to a scale of 10mm to
1 km. How far apart are two towns if they
are 75mm apart on the map?

13 |1rfd = n, find 44 in terms of n.

14 16m

45° 45°
28m

Find the area of the trapezium.

Question Answer Marks
2
32

Find the value of b.

..oyl 1
Simpli .

plify 6—6y

Find the shaded area if this cylinder has a 1
volume of 444 m’.
Use a pair of compasses and a ruler to construct a rhombus ABCD where AB is the 3

interval below and ZABC =120°. (Make sure the construction marks are clearly
shown.)

¥nd of Section C
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Use a protractor to measure ZABC to the nearest degree. 1 Section E (20 marks)
A Question Answer Marks
1 | If 0<b < a which of the following must 2
be negative?
A: —b+a
B: —(b+a)
C:-(b-a)
D: (-b-a)’
B C
A X 2 o . . T 0 )
Simplify x+l x-3 2 |Find x:y ifxis 30% of y 5
2 5 :
3 2
18 litres of sugared water contains 10% . 2
sugar by weight. How much water must
be added to make a 4% sugar solution?
Living Expenses
- p 60%
Given the following scores (a) 4
4,-1,0,2,6,3,4,-1,-2,1,-1, 9.
Write down the (b)
(a) Range
, : ©
(b) Mode
. A person’s wages are spent as shown in
(c) Median @ the pie-chart. What is the ratio of the
. 0
(d) Mean living expenses to rent?
- p - 4 4 3 2
A firm which caters for parties works out | (a) : 4 - Solve —— ==,
its charges using the formula. a+l a-1
C =100+12n where $C is the total
charge for a party of n guests.
4 (0)
(&) Find the total amount charges for a
party of 50 guests.
(b) For the party in (a) calculate the (c)
average charge per guest.
: 5 | Simplify (a—b)* =(a+b)a—-b). 2
(c) At another party the charge per
guest was.$16. How many were at
the party?
End of Section D
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A bag contains 4 red, 3 white and 5 green | (a)
marbles. A marble is drawn at random.
What is the probability that it is:

(a) white
(b
(b) not red

(a) Complete the table for the equation y =3x—1.
x| 2|-1]0 1 2
L

(b) Graph the line y =3x -1 on the number plane.

Draw a stem-and-leaf plot for the
following set of test marks.

Draw a travel graph to represent the story.

“Mike set out on a leisurely walk after a while he started to jog. He took a rest break at
about the half-way mark. He then walked for a while before sprinting the last part of
the journey.”

Distance
Travelled

Time
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End of Section E
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Section I (20 marks) ) 4 | Construct a circle which passes through the vertices of AABC,

Question : Answer Marks (Show all construction marks.)
If x+3=x+4 then 2
: A
A: x=0
B: x=1
C: x may be any number.
D: the equation has no solutions.
) . 2
Solve e x_1 .
35 2
C
5
R
2 S
T
RS and ST are diagonals on two faces of a
cube. Find the size of the angle RST.
6
1 2 B 4 ¢
What fraction of the square has been
shaded? 3
A

Find the shortest distance from B to the
line AC.
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In a class of 30, 15 boys play Rugby and 9
boys play Cricket. There are 4 boys who
play both Rugby and Cricket. A boy is
selected at random: find the probability
that he plays neither Rugby nor Cricket.

Extra Working Space

Question

Working

In his last game of ten-pin bowling, Bob
scored 199 and this raised his average
over the season from 177 to 178. What
must he score in his next game in order to
‘raise his average to 179?

End of Exam
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AS?}{—S—_: YFS*W/\V’7:2007:&7’“/’°"": o

Section A (20 marks) -

true?
Ar 32" = ("

B: 3*x2"=¢%-

C: Neither A nor B,

Question Answer Marks
1 | Name this solid. - 1
hr:omoju{wf prism '
T2 | What percentage of $300 is $157 I+ e 1
5
"3 | Write in ascending order N 1
o(li)e?.,lowest to hlgh?it) 7’ 7} 0.0 Ci/ ﬂ"/ 0.6
7%, 0.6, 0.09 and = 056 o 2
4 1
2_ = a
2% - b= 100
10
a= d
a ’ (7L
Find the value of a.
5 f 1
Evaluate -16—42
97+@3.1) ., O
(cortect to one decimal place).
6 | Which two integers are closest to /300 7 1
4, @}
7 | State whether A: Acute, O: Obtuse or 2
R: Reflex. (a) O
(a) 95°
() 200° ® R
8 . 1 s | 1
Express 61% as a fraction in simplest —
form. Lo
9 | Find in MOD 7° @ ;{‘ 2
(a) 1-6 i
®) 3+4 ) b
10 | Which of the followiﬁg three statements is 1

Page 1/15

5

.. 4a+8
Simplif
plify 1% o R
Lf-
12
] 4 2
| @& ao0em”
!
]
)
i
B ainlelts B .
® (50 + 20 + 40) ¥ 2
10 cm )
Find the:
(a) Volume 2a0cm ke
(b) Surface area
of the rectapgular prism,
13 | Write an equation to represent: 1
“The number three less that x is equal to . A,
one third of x.” 3 - 5 n :7;“"
14 | $84 is divided in the ratio 4:3. What is the 1
larger amount? 3
$4 Q3
I —
> Solye & ! =8. !
n="F= QY
16 1
If x = ~—, find the value of 16x*, 1 !
2 A by -4 <« — ol
17 1
o 0 . N ]
@ o 3%y
o
47 113° A
Find the value of a.

End of Section A
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Section B (20 marks)
Question . . | Answer Marks
1 | The point (- 2,a) les on the line 2(_z> - (0\) +5=0 1
2x =~ y+5=0.Find the value of a. “l o Tz O
o+ = O
o= |
2 | Graph the solutionto 4—x >3x ona L4 5 3 1
number line. 45 W
L% %
& |
&« !_ 2~ O 2
3 | Stmplify ® =x-10 3
(a) 4x—-1-x-9
: s
() 3a’ x24° ® 6o
4a’b + 2ab 2
(©) darba © 2o
4 | Decrease 0.95 by 15% (answer correct to 095 x 03@ s—- = 0.C075 1
two decimal places). i
= (- @ I
5 (a) name & pair of congruent triangles | (2) AARC & NZYX 1
(with vertices in corresponding
_ order).
(b) State which test you have used.
®) SAS . #* 1

;/;,/o ‘5:'\&(@.5 W( She
S Autolod Mf/é oLl
87(4&1/( .

4 R
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6 What fraction is midway between 1 and L-d =22
1 ‘ 5 5 35 Y
1, . 6 . 20
7 ‘ 2 Sw——‘g (59 ’—MldAMc(U’LbW v
Fv=uy+ar,findfwhen v=48, 4 =12 4
and a=47 ' 342: ftJ At
t=9

An article is bought for $14.40 and sold
for $16.80. Express the profit as a

| percentage of the cost price.

~ofif= 16:8 - 1%
pre = 24

Bprroon 16370

Solve '3—x]=5.
ot Q Oy — 2
10 | Expand and simplify . _ S
@ 2(x-y)-3(y-2x) @ 2 -2& 3“35 + 6ot
= Sa - S:Lj
) (x-.3)(2x+5) . N _
‘ ' B 20 L o= b - 1S
= 25w - 1§
11| Find all values of x in MOD 5 such that R
¥ =1. :
Ixt=1] )
2<2% ¥ = /’ v :
BxBE ('f w
b=
— 1

End of Section B
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[ M
: —‘/2 ‘B/ 6w 5 enor
Section C (20 marks) ' i 7 2 2 9 2
Question Answer Marks i Y el A(4,3) A% - & oY o> -1 & Ors )n]:j ¢ )'\,&.\
Factorise fully 2 (’ % bﬁ) 1 o -7 - 3 +2S. v
4a°p% —12ab* . 40 b a ?) @ e : é O cimgy)
. o = \ i
- ! ¥ A .
-2 o podaota
] -
o I P G g
Simplify the ratio 80 HOCD 1 B(-1,-3)
80 metres to 4 kilometres : B :
_ ) find the exact length of AB,
o) @ 8 | My 8% commission on the sale of  car 8 = $Q G 00 2
‘ was $2400. For how much did the car @ : :
5 sell? R AP ol
H G . ) | S
j O/ = H2 oo O
i S | Write down the number ten less than half 1
A So5eelo ® | a million. 42999550 (O
- ! / s 1
B F /—\ = 12 )(7 x
The triangles EFH and FGH are = 7.Smz @
equilateral. Triangle EGH must be .
& ;ﬁﬁfﬁ:ﬁ: " . ' ? Find the shaded area,
C: scalene . ' .
¢ soaler . 11 | Accircle has diameter 3 metres. What is its - ! 9 1
D: r.lght angled , o . . | circumference to the nearest centimetre? Ce 7\ d C\:” [ } 8) &eh
(ﬂ)@m‘i—‘—tO} 122l =10 2 | : : 3x . /
: : ~ Wowd o
=2 B not e Gy e R
’ 12 | A roadmap is drawn to a scale of 10mm to I%nm: 1 1
. M
_ ST i . 1 km. How far apart are two towns if they mt :
(2x+10)° : ®) ?D: 4O + x HIO 'o [ are 75mm apart on the map? the. ’lOH)ﬁS Qre_ 7.5tm.®
51 30 =180 . Q(}Or‘}‘.'
(8) Write an equation to represent the 53 = 2 100 : b B3 1 Jd=n ,find 44 in terms of . A=Y= Y nZ @ 1
information. ] o o & . : o ) AR
- Ty .. A = M .
(b) Solve for x. . X H1 @ y
For every 40 QOO valves manufactured by Lg: 4o O00 ’ "- [O% @ 1 14 %o 16m ,_'50 ' Xax =12 1 x=g 2
a company, it is found that on average 48 : ? ‘ | . )
are faulty. How many faulty valves could } - 12! 1O 00O YGo La o :
be expected in a batch of 90 0007 : A- 27 ox (164 23) @
log ! 400D . y , . .
Change 800 kph to metres per second. > WYY, ?'_ M p < @ 2 : . o 2x 44 ¥2. '{Dv’ BAENAY
. _ iy, ey )
00 1 i - ST S i s
: : ) Find the area of the trapezium. . ‘ m(:/v‘/e( :
= 00 000 Q e () End of Section C
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Section D (20 marks)

Question Answer
2o = 90—~ 32
=458
a= 29 v’
/& = 90 "Z?
= él \/
Find the value of &,
o en Y—1 -1 - I
Simplify —-. = Lot [P
6—6y e -y : /é v’
Find the shaded area it" ﬁs cylinder has a .V sy
volume of 444 m?, V= A/L\.
A= Had
12

= 3? et ‘/

Use a pair of compasses and a ruler to construct a thombus ABCD where AB is the
interval below and ZABC =120°. (Make sure the construction marks are clearly

-| shown.) ﬂ

Cr/w,%w

Page 7/15

Tt
-0 -

\bﬁ#h‘“‘\%\.ﬂp\

Simplify 5—+—1 +2 ; 3

ederlr=D

10

Tt |
10 ‘D/

Ex 48t 2 — G
PE———————— ] _—

18 litres of sugared water contains 10%
sugar by weight. How much water must
be added to make a 4% sugar solution?

[ 9L - &% .
0 U Mh (7 ﬁm

NMAL&(M sl ‘

2F Aifwes
Ao aolded

Given the following scotes ® (| v
4,-1,0,2,6,3,4,-1,-2,1,-1,9. C : )
Write down the ® =] v
(a) Range 9 (- 7/) ) : \
: © |V “
(b) Mode -

© Medio & V2 (oot Foon

(d) Mean

rad .
@ g S

12 .

A firm which caters for parties works out
its charges using the formula,

C =100+12n where $C is the total
charge for a party of n guests.

» (a) Find the total amount charges for a
party of 50 guests.

(b) For the party in (a) calculate the
average charge per guest.

(c) At another party the charge per -
guest was $16. How many were at

the party?

(@) |opr 12+ 5© = $7~OO v

® Avwgz"‘ =
,5;;4 v

© lfaw = 100 +12 0V
Y = 100
wls 2y

y Z> at ,zw%

End of Section D
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i Section E (20 marks) : [ 6 [ A bagcontains 4 red, 3 white and 5 green | () = » 1 2
Questlon‘ ‘ Answer Marks matbles, A marble is drawn at random. P< W —‘?2‘ =
1 I 0 <b <a which of the following must o ) ‘What is the probability that it is: 4— )
be negative? : : (a) white
| | | , ®
At —b+a . - . (b) not red T 2 2
B: —(b+a) . RB. : | S : P(ﬂ>= ]_?<ﬂ>: 1273
Ci—(3-a) , .
D: (-b—a) ’ ' : : 7 (a) Complete the fable for the equation y =3x—1. o2
e . . - x| =2(-1]0] 1] 2 -
2 [Find x:y ifxis 30% of y. iy [ SOy I S
: e Oy 20! 160 2 Y ] 4 I a5
20 ! (b) Graph the line y =3x—1 on the number plane. o . -
i ' 2
' 811
3 2
5 .
(2,B)
bD: 20 1
| 20 2 (12
! » Living Expenses a7/ :
| 60% o (0,- 5. ot °
|
i )-4’>.
|
! i e
| ’ (- -
§ A person’s wages are spent as shown in ( 2o _D'
! the pie-chart. What is the ratio of the T I o ’
| living expenses to rent? e . 8 | Draw a travel graph to represent the story. 2
T4 4 E) - 3 “Mike set out on a leisurely walk after a while he stated to jog. He took a rest break at .
Solve m = ~ . A A about the half~way mark. He then walked for a while before sprinting the last part of -
- ¢ g ' I the journey.” . : . ) 5 .
a(a-1)=3(0+D) | { ] ¢
do—& = 2orS o= 1.~ N , : Lo?
. . L A |- Distance : " REST ]
o =77 'K ' Travéiled] — - ) ’
5| Simplify (a—b)’ —(a+bXa-b). T 7 -
o Aob+ B2 [fFLE) - . et
2. 2. —_ -
= ~2gb+rb —b = b 2ol 4 - . Time
Page 9/15 Page 10/15




9 | Draw a stem-and-leaf plot for the

following set of test marks.

‘34 46 29

45 36 38 36 43
27 31 28 33 29
40 36 4l 37 7 39

STEM | LEAF .

A7 esaq9

47 41 32 28 33~

30 L2A3%46bbT B3I

4ot 23567

End of Section E
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Section ¥ (20 marks)

Question

Answer

Marks

If x+3=x+4 then
Arx=0

B: x=1

C: x may be any number,

D: the equation has no solutions,

D

Solve ﬂ_f=i.
3 5 2

Gox Gx T

3o Jo 30

Sgn= 15

oz U7

24

‘| What fraction of the square has been

GAS = 2 reckompl]
=gy (a+1)
Peean of shadesF = UL

Frocchon slhasteed * VA ”:f

it

"..| shaded?
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| Construct a circle which passes through the vertices of AABC,
(Show all construction marks.) .

In a class of 30, 15 boys play Rugby and 9-

boys play Cricket. There are 4 boys who
play both Rugby and Cricket..A boy is
selected at random: find the probability
that he plays neither Rugby nor Cricket.

PR =

RS and ST are diagonals on two faces of a
cube. Find the size of the angle RST.

I3+ 199

In his last game of ten-pin bowling, Bob
scored 199 and this raised his average
over the season from 177 to 178, What
must he score in his next game in order to
raise his average to 1797

bk Ane w0, of Gt be sy
9 1)

u

320 +199

g

9%+ (78
o =l

40

(98 % AR +svore, = (F9¢22

e

N
A}
.

N

Y

3

7 b=t (s4)

| Find the shortest distance from B to the -
line AC. = Sh
I = \2.
Y
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End of Exam

Page 14/15




